K761

Support Units - Fixed Side, Square

Standard

'y, Points of comparison between similar products | Consider using these parts when the usage environment is high-load application and high operation frequency.

Industry Standard Type [MMaterial [&surface Treatment
Fixed Side | Fixed Side and
only Support Side SET 0J6) ®® (0J6J0)0)
BSW BSW-SET Black Oxide
BSWN BSWN-SET S45C $5400 Electroless Nickel Plating
BSWR BSWR-SET Low Te e Black Chrome Plating
d=6~8 Bi
- T =
L3 Lo 2 (3 % N ‘ 2-d1Through
daCounterbore DepthL
N ,Q 1 T ZON |
— Ry = | HORE
EED = = =2 (1T \&&J T Le
il 2= | I |=
[ @ | i =
Il Component Details 0 L/2|L/2 ® o [ p ‘
Number| Part Name Quantity L B 1
Bearing Housing 1
@ | e s 150 d=10~25 By il
Cover 1 Ls L }@ T ® 10_] [22] | 10
Oil Seal 2 1(3 ] 2-d1Through T4
Hex Socket Head Cap Screw*| 4 M
- CZ)I(Iar et Head Cap Screw’ 4 -, X | d2Counterbore Depths * 4 Mounting Holes
@ Bearing Nut (with Set Piece 1 — = - T T T = T T
‘ml-of - “r L,: Vo 4 \77}
== B I 5209 i e
(®) 0l Seal @ is not included in d=6. T - = L | L N . —1
(®) d=8 comes with one il Seal @ L 5 ] ] < NN
) D@ Q@ sty L2112 ‘ b ‘ d=25 »9 | [30] | 9
(%) BSWR bearing is filled with low dust generation grease. L L1 16 (%) d25 is not counterbored. 48
* Screws (5 for BSWR and BSWN are Stainless Steel Type. B * 4 Mounting Holes
@ For No.8S and 10S, the 1.D. of oil seal is smaller than the previous No.8S and No.10S versions.
@ When used together with a MISUMI ball screw, there is one support unit accessory collar spare.
Part Number Support Qil Seal
T N Side d| L |Li|L2|Ls| B|H|h | Bi|Hi|P |di|d2]| ¢ M (Fine) T | Applicable
ype O SET Shaft Dia.
6 6 | 20| - |225/35|42 | 25|13 | 18 | 20 | 30 | 55| 9.5 M6x0.75 12 =
888 8 | 23| - |26 | 4 | 52|32 |17 | 25|26 | 38 |6.6| 11 M8x1.0 14 +
1022 40 | 22 32 1 14
10S 10 43 | 25 35 M10x1.0 17 12
BSW 10 -SET 24 | 6 |295] 6 | 70 36 52| 9 |14 14
BSWN 1223 Only when 41 | 23 33
BSWR 12 purc(has%/ng in Sets) | 12 3| 25 35 M12x1.0 19 15
1526 46 | 26 36
1528 15|125| 6 | 38| 5 |80 | 48 | 28 | 41 | 38 | 60 M15x1.0 22 20
TE 11 | 17 | 15
15 50 *30 40
20 20 | 42 | 10 | 52 | 10 | 95 | 58 56 | 45 | 75 M20x1.0 30 25
25 25 148 | 1359 | 14 |105] 68 | 35 | 66 | 25 | 85 | 11 = = M25x1.5 35 31
(®Take care in combining No.20 with Ball Screw BSSZ(K)2510, BSSR(K)2510 or BSST2510. The ball screw nut may come in contact with the bottom surfaces.
Ordering |Part Number
Example BSW15  (Fixed-side single type)
- SET part
BSWIS-SET (SETpart oe) Part Number BSW | BSW-SET | BSWN | BSWN-SET | BSWR | BSWR-SET
Tvoe No Unit Price | Unit Price | Unit Price | Unit Price | Unit Price |Unit Price
yp " [1~10pc(s). |1~ 10pc(s). | 1~ 10 pefs). |1 ~ 10 pe(s). |1 ~ 10 pefs). | 1 ~ 10 pels).
6
8S
8
1022
(® For details of Bearings in addition to mounting interface accuracies of BSW 10S
Support Units, Included Collar and Bearing Nut, see B P759 BSWN 10
(® Ball Screw Compatibility Chart BE"P.756 BSWR 123
(® Store Accessories with care since they are required when assembling. ~ BSW-SET 12
BSWN-SET 526
BSWR-SET [ 1528
15
20
25




